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Democratic Socialism 

• Democratic socialism is defined as having a socialist 
economy in which the means of production are 
socially and collectively owned or controlled 
alongside a democratic political system of 
government.

• Democratic socialists reject most self-described 
socialist states, which followed Marxism–Leninism



Democratic Socialism Social Democracy

Support a socialist economic mode of production Support capitalist economic mode of production

Here, means of production are socially and 
collectively owned or controlled alongside a 
democratic political system of government.

Believe capitalism can be humanized with economic 
regulations and social interventions such as welfare 

programs, taxation etc.

Democratic socialists reject most self-described 
socialist states, which followed Marxism–Leninism

Aim to create policies within capitalist system to 
kead to better democratic and egalitarian outcomes 

to curb inequality, poverty and oppression of the 
underprivileged.

Democratic socialists reject Marxism-Leninism (i.e., 
communism) as a legitimate form of socialism, 

arguing that command economies effectively belong 
to a small bureaucracy that treats the means of 

production as its own private property

Maintain that goals of capitalism and goals of 
democracy can be made concilable.

Democratic socialists also disagree with social 
democrats’ attempts to harness capitalism to a 

strong welfare state, since such mixed economies 
still leave many businesses’ ownership under 

private (and therefore undemocratic) control.













UPSC PRELIMS 2018 
Consider the following statements:

1. In the first Lok Sabha, the single largest party in the opposition was the 
Swatantra Party.

2. In the Lok Sabha, a "Leader of the Opposition" was recognised for the first 
time in 1969.

3. In the Lok Sabha, if a party does not have a minimum of 75 members, its 
leader cannot be recognised as the Leader of the Opposition.

Which of the statements given above is/are correct?

(a) Only one 

(b) Only two 

(c) All three 

(d) None of the above 




	Slide 1: Elections through NCERT – Class 12th Politics in India after Independence 
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6: Democratic Socialism 
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13: UPSC PRELIMS 2018 
	Slide 14

